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Question 1- 65x65 + 80% of 375 + 40% of 100 =7
T 1- 65%65 + 375 w71 80% + 100 =1 40% =7

a) 4555
b) 4565
c) 5665
d) 6855
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Question 2- A whole number is added to 150
and the same number then subtracted from 150.

Find the sum of two resulting number?
5T 2- Q?F‘Iﬁ'%itql HT 150 H STTET S1aT @ 3l e
3ET HE 1 °h| 150 & H<TAT SATAT gl && qiordt

HEATAT T TNT AT iTor | a)150

(
(
(c)200
(d
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Question 3- A person mixed 4.8 kg rice, 2400 gram wheat
and 1.8 kg salt and packed them in 1.5 dozen packet of
equal quantity. Find the weight of each packet?

T 3- Ush i<k o 4.8 Tl A1, 2500 UTH g 30T 1.8 Tohel
T THTT 3T I7e 9T |17 & 1.5 T Tohe § T FohaT)
T Teha T TSI AT hlford?
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Question 4- The average of 5 consecutive number is 22 then find the
largest number. . . . o
Y 4- 5 HHNTI GBAT3M BT MYd 22 § dl Jad Fof I A

DITord

a) 28
b) 24
c) 26
d) 20
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Question 5- A train starts from Lucknow on 30th
Oct, 2021 at 23:40 hours and reaches Mumbal
on 1st June, 2023 at 5:15 hours. What is the
total travel time of train ?

77 5- TF ¢-1 30 3rFzaY, 2021 F m@ddo@rZB 40
TS |~1°hc4c| g 3T 1 5[, 2023 &1 5:15 a5 Ha=

e &1 3 AV o ATAT wrater AR%FPurs 35 minutes

b) 29 hours 55 minutes
c) 28 hours 25 minutes
d) 29 hours 15 minutes
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Question 6- A bucket of 15 litre capacity is filled to the
brim with water. Water from this bucket is to be
transferred into smaller utensils. A mug filled to capacity
has to be dipped 40 times to completely transfer the
water in the bucket into the utensils. What is the
capacity of the mug ?

TT 6- 15 ¥ &THAT %l aTecl il AT § A (<7 S1aT 2|
TH JTeel | TTAT Rl Bl Il H AT o631 ST gl
AT § WL Tk |37 [ 40 9T ST IS0 %’a'rro&)gd)gd}ﬁgff
qTHT BT T AL Il H TATATA T AT ST et
THAT FIT 272 ¢) 375 mL
d) 400 mL
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Question 7- Two numbers are in the ratio 5:7. If 12 is
added to both the numbers, then the ratio becomes 7:9.
The sum of the given two numbers is

ST 7- A AT 7 AT 5: 7 8l Ti< AT Gearsi 7 12
STIST SITAT @, a1 ST 9Td 7: 9 &1 ATaT gl < T5 &l ST T
T T 87

a) 62
b)52
c) 77
d)72
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Question 8- Which of the following are the sides of triangle.

Uy 8- Hafafad # ¥ ¢

I T Yl ©

RIS

a) 17cm,20cm,38cm
b)20cm,21cm,29cm
c) 10cm,13cm,27cm
d) 6cm,8cm,19cm
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RS.
RS.

Rice/dId

Lemon/:ﬂq

Tomato/CH

Wheat/ﬁ_t:{

Apple/Id

cX

2 kg
6 pieces
4 kg
5 kg

2 Kg

RS.
RS.
RS.

30
25
400
260
180
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Question 9- A person bought 2kg rice, 6 pieces of
lemon, 2kg tomato, 3kg wheat and 1kg apple and
gives Rs. 2000. How much money should the
shopkeeper returned to him?

U SA<h 2 Tohetl ATae, 6d’o;L°h EXE AT, 3

d 2
ﬁw_vﬁﬁ‘gﬁ'ﬂ Rretr g @) & & 37 2000 &9 34T 1

F e e

— - a) Rs. 1433
S )Rs. 1467
Wheat/ﬁ’é 5 kg Rs. 230 C) Rs. 1167

Apple/@a 2 kg Rs. 180 d) Rs. 2157
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